
DATA SHEET / DC CIRCUIT REGULATION 

 

Name: 
 

Resistors:   (number:     )  RL =..........kΩ,      (letter:    )  R =.........kΩ 

Helipot:   (....)    RH =............kΩ 

Source:    (....)    UT ≈ ε =..........V   

R1 = n/1000 · RH 

1. Serial regulation 
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least squares method: 

y = a·x + b 

 

 x   ⇔   R1 

   y   ⇔   1/I 

   a   ⇔   1/ε  

             b   ⇔   (RL+Rm)/ε 
 

here Aim RRR +=  
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2. Potentiometric regulation 
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least squares method: 

y = a·x 

 

x   ⇔   R1 

y   ⇔   U 

               a   ⇔   ε / (RH+Ri) 
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